CASE STUDY – ENVIRONMENTAL PROBLEMS #1

Purpose for Reading:  

· You are reading to be informed about the spread of a rabbit population in Australia.  

· What would be the best way to control the rabbit population?


In 1859, Thomas Austin imported a dozen pairs of European rabbits to Australia. He wanted to raise them and sell their meat and furs.  He released them on his ranch and allowed them to breed.  In the six years after he released the rabbits, Austin had killed 20,000 rabbits, but he still had 10,000 rabbits living on his ranch.  Female rabbits can start breeding at 4 months old.  And they have, on the average, 36 young a year.  At this rate, it would be possible for one pair of rabbits to produce 13.7 million offspring in three years.  That of course would mean that their offspring have babies and those babies have babies, etc.  Fortunately most adults don’t live longer than one year.  Nevertheless, Australia was faced with rapidly increasing rabbit population.  The problem is worse because 5 rabbits can consume as much grass as one sheep.  Besides competing for food with the sheep, the rabbit’s burrow holes that extensively damage the foundation of buildings and increase soil erosion.


Many methods of control were attempted – trapping, shooting, poisoning, destroying burrows, and even building a 1500 mile long fence.  Few of these options have been successful.  Australia will soon become the world’s major supplier of rabbit meat and fur, but can not balance that new income with the money that the sheep farmers have lost.  The combination of a favorable habitat and few predators has allowed the rabbit population to increase to an estimated 1 billion rabbits. 

CASE STUDY – ENVIRONMENTAL PROBLEMS  #2

Purpose for Reading:  

· You are reading to be informed about the spread of the city pigeon population.

· What would be the best way to control the pigeon population?
A bird that has become associated with humans and cities is the pigeon or the rock dove.  These birds have been able to thrive by getting food from city garbage or from the crumbs scattered by good-hearted people in cities who like to see birds.  The pigeon population has grown into a huge problem.  Ledges, windowsills, and ornaments on buildings are where the pigeons build their nests.  The droppings from these birds are expensive to clean and erode the stone and marble in the buildings and it also blocks roof drains.  Pigeons are capable of transmitting several diseases to humans such as parrot fever, meningitis and other blood and brain diseases.  

Pigeons continue to live despite the fact that people have tried to control their population.  For a little while, alley cats and taxicabs did decrease the pigeon population but more serious efforts were need to decrease the numbers of pigeons.  Scientists have developed pigeon feed that is treated with a contraceptive in order to make the population infertile, or unable to have offspring.  Some cities have introduced a natural predator like the falcon, a bird that can swoop down on the pigeon at an estimated 180 miles per hour.  The falcon prefers to nest on steep cliffs, but they have found that the city skyscrapers are similar.  Populations of pigeons have declined in cities like Baltimore since a falcon family made a nest on the USF&G building downtown. Thirty-three years after an endangered peregrine falcon named Scarlett was released from her breeding facility and raised foster chicks and later her own hatchlings on a 33rd-floor ledge of a Baltimore skyscraper, the bird's heirs are still bringing more peregrines into the world.

There are nearly 100 young peregrine falcons to fledge from the same spot on the former USF&G and later Legg Mason tower, at 100 Light St. 
CASE STUDY – ENVIRONMENTAL PROBLEMS #3

Purpose for Reading:  

· You are reading to be informed about the spread of exotic and harmful animals in Florida.

· What would be the best way to control the population growth of the exotic and harmful animals?
Florida’s new arrival of exotic animals, insects and plant life are turning the state into a new biological zoo.  Recent imports include flying cockroaches, hissing cockroaches, poison toads, walking catfish, piranhas, metal eating termites, coyotes, and monster trees that kill off all vegetation in sight.   The pepper tree is also a problem.  Its red berries look harmless, but the tree makes humans sneeze and their eyes water.  It is also harmful to wildlife.  Its branches block out the sun and the roots hog all the precious groundwater.  An Australian tree is even worse.  Its’ flowers have a rotten smell.  It causes allergies, and when it is heated the bark literally explodes. 

Florida has over 400 new exotic plants and animals that have survived.  They spread across the state too.  A large poison toad was originally brought in to control the insects on sugar cane.  Now they have spread through Florida and eat anything they can find.  The toad’s poison is fatal to small animals like dogs.  

South Florida is now the home of the Formasa termite.  It feeds on 15 types of wood and can eat through utility poles and railroad ties.  They live in colonies of up to 3 million.  Some parrots and parakeets that have been abandoned by their owners are living and reproducing in the wild and causing farm crop destruction.  Some people against the growth of Florida think that the horror stories of the new plans and animals may help to slow the number of humans moving into the state.  Biologists in Florida hope to find ways to control the new inhabitants of the state.

CASE STUDY – ENVIRONMENTAL PROBLEMS #4

Purpose for Reading:  

· You are reading to be informed about how the elm tree is being killed off by disease.

· What would be the best way to save the trees?

For years, elm trees lined the streets of American towns and cities where they were valued for their shade and their lumber.  These elm trees were up to 100 feet tall and could survive up to 150 years.  In 1919 scientists discovered a disease caused by a fungus that clogged the water producing areas in the tree trunks.  The disease usually begins with the youngest leaves wilting and then spreads to the older leaves that eventually turn yellow and fall off.  The trees die in about 4 weeks.  By 1930s, it was discovered that the disease was spread by bark beetles.  It was found in America on elm logs imported from Europe.  During the last 50 years the disease has killed over 100 million elm trees.

Since beetles spread the fungus, people sprayed the pesticide, DDT.  While DDT effectively killed the bark beetles and slowed down the spread of the disease, birds feeding on the trees, especially robins were killed.  The disease can be transmitted from the roots of an infected tree to the roots of a nearby elm.  Cutting and burning of the infected wood was the most commonly used procedure for slowing the spread of the disease.

New types of elm trees that are resistant to the disease have been developed.  Another weapon that has been developed is using a bacterium that kills the waste of the fungus.  It will take several more years to develop bacteria that can survive cold winters and spread throughout the tree.  Another technique is to use sprayed chemicals to attract beetles to trees with poisoned bark.

CASE STUDY – ENVIRONMENTAL PROBLEMS #5

Purpose for Reading:  

· You are reading to be informed about the how officials in London have tried to deal with air pollution in the city.

· How can a city ensure that everyone has clean air to breathe?
Air pollution is not a new problem in the city of London, England. In December 1952, weather conditions trapped pollutants over the city for days, creating a thick “killer smog.” The “killer smog” killed at least 4,000 people.

This disaster spurred Great Britain and other developed nations to take steps to control air pollution. Londoners still battle the pollution released by motor vehicles. About 250,000 vehicles commute into London’s downtown every work day and these cars and trucks spew out pollution. 
Ken Livingstone, a mayor London, developed a plan to charge drivers a fee fro entering the city. He thought that this measure could reduce traffic congestion and might also reduce air pollution. In February 2003, London’s “congestion-charging” program meant that people driving into London on weekdays began to pay a fee every day. The money has gone to improve bus service and encourage people to travel by rail, bicycle, and foot.

Many Londoners have been outraged by the program. Some daily commuters complain that the fee is too high. People also argue that the system discriminates against poorer people who cannot afford the fees. Many other Londoners, however have supported the program. Since the program began, traffic congestion has decreased by nearly 30 percent. Fewer cars are now entering the congestion-charging zone in central London. And people in the zone have suffered fewer injuries from traffic accidents. Measurements after one year showed a decrease in some pollutants in London’s air. But a study in 2009 indicated little overall change in air quality. More cities are considering such a program, hoping to reduce both traffic and pollution. 

CASE STUDY – ENVIRONMENTAL PROBLEMS #6

Purpose for Reading:  

· You are reading to be informed about the affects of China’s one-child policy
· How does the human population affect the environment?
Sixty years ago about 540 million people lived in China. At that time, each Chinese woman had an average of about 5.9 children in her lifetime. China’s population growth was taking a toll on the environment. Soils were eroding. Forest and water supplies were diminishing. The air was becoming more and more polluted. To prevent a catastrophic strain on resources, the government started a population-control program. The program began with education and outreach that encouraged people to marry at an older age and have fewer children. But these initial efforts did not meet the government’s goals. In 1979 the government set up a  new system. It used rewards and punishments to enforce a one-child limit. Families with one child had access to better schools, housing, medical care and jobs. Couples with more than one child were fined more than half of what the couple earned in a year. Socially these families were scorned and ridiculed.


In enforcing its policies, China has been conducting one of the largest and most controversial social experiments in history. The experiment has had unexpected results including and unbalance ratio of males and females. In 2005, there are 32 million more males in China under the age of 20 than females. Sons are traditionally favored in China because they provide support for their parents as they age. Some couples will take measures to make sure they have one son. 


On the other hand China’s policies have successfully slowed population growth. Chinese women now have an average for fewer than 2 children. As a result, China can handle its social and economic challenges more easily even with a current population of over 1.3 billion people.
CASE STUDY – ENVIRONMENTAL PROBLEMS #7
Purpose for Reading:  

· You are reading to be informed about mining for cell phone materials contributed to conflict in Africa
· At what point do the costs of mining outweigh the benefits?
Pulling a cell phone from her pocket a teenager in the U.S. sends a text message to a friend. Inside her phone is a metal called tantalum, a tiny amount, but no cell phone could operate without it. Half a world away, a young miner lives in poverty in the heart of Africa. He works all day in a jungle streambed sifting sediment for particular nuggets called colton which contains tantalum. That night soldiers who are fighting for control of the Congo forcefully take most of the coltan he gathered that day. He’s left with little to sell to buy food for his family.

Global demand for tantlum rose drastically in the 1990s as high-tech industry boomed. Market prices for the metal shot up to $250 per pound in 2001. These high prices have led some people in the Congo to mine coltan by choice but many more were forced to do it. As the war began in 1998, farmers were chased off their land, villages were burned and civilians were killed. Soldiers seized control of mines and forced civilians to work in them and live in mining camps with poor conditions. Miners and soldiers streamed into national parks, clearing rain forests and killing already endangered wildlife.

Soldiers and bandits sold coltan to traders who then sold it to companies in Europe and the U.S. The companies refined and sold the processed tantalum to manufacturers of cell phone parts and computer parts. In 2001, a United Nations panel concluded that the coltan trade was financing and prolonging the war and created and restriction preventing the trade of coltan from the Congo. Critics complained that an embargo would only hurt the people who had no other way to make money.
